SC 3-JAW SCROLL CHUCKS
8558 B = T\5%E

R 9 B >» Dimensions

PS 4-JAW SCROLL CHUCKS
SESHEIPYT\ZEE

R 3 B > Dimensions

BI3LEY %38
Front Mounting Rear Mounting /9
e ——
1 5
T 5
=]
HEB;EH_ _ Led w1l o al <
Q Ql Q@ Q
i F
g L
#82 #% 38 > Specifications & {1/UNIT:mm
AT FRAS = UiER  IR#EEEE Max. Gripping Diameter R E
MODEL A B C D E F G H J K L Max.Speed NEAEE ofEssiati Weight
/ SPEC. r.p.m.(min"") 0.D.Clamping I.D.Clamping (k@)
SC-03 85 45 60 73 16 3.5 3-M6x1P 35 11 15 7 2500 02-070 024-064 1.5
SC-04 112 58 80 95 24 45 3-M8x1.25P 42 14 17 8 2500 23-090 032-084 3.3
SC-05 132 60 100 115 32 45 3-M8x1.25P 50 16 20 8 2500 03-0110 ©35-0100 4.6
SC-06 167 66 130 147 45 5 3-M10x1.5P 65 19 23 10 2000 24-0160 248-0150 7.9
SC-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 12.0
SC-08 203 76 160 176 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 13.3
SC-09 233 84 190 210 70 5.5 3-M12x1.75P 85 24 345 12 2000 05-0220 062-0210 19.3
SC-10 273 86 230 250 89 55 3-M12x1.75P 98 28 39 12 1800 06-0260 070-0250 26.2
SC-12 310 96 260 285 105 7 3-Mi12x1.75P 110 30 45 14 1800 210-2300 286-0290 37.6
SC-14 355 112 300 328 127 7 6-M12x1.75P 132 35 50 15 1500 012-0350 ©96-0320 57.2
SC-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 014-0400 2100-2380 80.7
IS
FHERYFNIT\IEE
R > & > Dimensions
BU3LEY &35
J Front Mounting Rear Mounting G
(p— = =
.
g f B dds
Q| [S) Q|
% : lE
- L
B
82 #% 38 > Specifications BE{i/UNIT:mm
BT RS e biER IEEEEE Max. Gripping Diameter 38
MODEL A B C D E F G H J K L Max.Speed IR Weight
/ SPEC. r.p-m.(min™) 0.D.Clamping (kg)
AS-04 112 58 80 95 32 45 3-M8x1.25P 45 14 46 8 1200 02-032 3.8
AS-06 167 65 130 147 60 5.0 3-M10x1.5P 66 19 43 10 1200 23-060 8.2

41

AI3LE %37
Front Mounting Rear Mounting G
— =
2t
5
= — Sy dels
Q| al g
F
N
#82 £% & > Specifications & {T/UNIT:mm
AU /R4 EeiEER 3EIEEE Max. Gripping Diameter  j$E&
MODEL A B C D E F G H J K L Max.Spged NIE IR PR E Weight
/ SPEC. r.p.m.(min')  ©.D.Clamping I.D.Clamping (kg)
PS-07 193 76 155 172 58 5 3-M10x1.5P 75 22 28 11 2000 04-0180 056-0170 12.1
PS-09 233 84 190 210 70 55 3-M12x1.75P 85 24 345 12 2000 05-0220 062-0210 19.4
PS-12 310 96 260 285 105 7 3-M12x1.75P 110 30 45 14 1800 010-300 086-0290 38.1
PS-16 405 122 345 375 160 8 6-M14x2P 146 40 56 15 1500 014-0400 2100-0380 82.4
1 O
FHERY/\/T\ 35
R Y B > Dimensions
B
G %
: —
st hCEr
N e
N
R £% 38 > Specifications BEfi/UNIT:mm
EUGWE ) S ReiOiEE IE¥EFFEE Max. Gripping Diameter BE
MODEL A B C D E F G H J K L Max.Speed NEICIE Weight
/ SPEC. r.p.m.(min") 0O.D.Clamping (kg)
AE-09 233 84 190 210 100 5.5 4-M12x1.75P 85 24 60 12 1000 07-0100 21

42



55 JJ B = JT\ 28R

R -NIm» Dimensions

MJLIM!

Front Mounting

S K 3-JAW POWEREULIY.P-E SCROLL CL:IUCKS

@_@&M

556 70 B SN BP0 T\ Z2 68

R - Pii» Dimensions

]."H

{__J‘%‘f

m,fflé»Specifications

MJLI!

Front Mounting

UL
R Mounting

PS K 4-JAW Po_wEREUL IYP-E SCROLL CL:IUCKS

ofil:/UNIT:mm

li'.' 7
....... S
L
m,fflé»Specifications fil:/UNIT:mm
filli\:HJm m Imffif tewiBig! Mac Gripping Diameter
MODEL A B C D E F G H J K L Max.Speed Oi-loteJW eiomw Weitt
/SPEC. rp.m.(min-,  O.D.Clamping LO.Clamping (kg
SK-04 112 58 &0 95 24 45 3-M8x1.25P 47 19 315 8 2500 03-0100 035-093 3.45
SK-05 132 60 100 115 32 45 3-M8x1.25P 57 24 36 8 2500 03-0123 043-0122 5.0
SK-06 167 66 130 147 45 5 3-M10x1.5P 68 26 39 10 2000 08-0160 055-0150 8.6
SK-07 193 76 155 172 58 5 3-M10x1.5P 82 28 43 {1 2000 08-0180 062-0170 12.8
SK-08 203 76 160 176 58 5 3-M10x1.5P 82 28 43 11 2000 08-0180 062-0170 141
SK-09 233 84 190 210 70 55 3-M12x1.75P 93 32 50 12 2000 011-0220 070-0210 204
SK-10 273 86 230 250 89 55 3-M12x1.75P 102 32 545 12 1800 012-0260 080-0250 26.7
SK-12 310 96 260 285 105 7 3-M12x1.75P 118 40 56 14 1800 015-0300 090-0290 39.3
SK-14 355 122 300 328 127 7 6-M12x1.75P 139 45 705 15 1500 025-0350 0110-0320 60.7
SK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 030-0400 0110-0380 82.3
SK-20 500 140 420 458 205 55 6-M16x2P 140 55 8 19 1000 025-0480 0125-0460 1455
A1 A 2 13JAW Al (A2) IYPE CLIUCKS
—
EIEE = T 3E
R -NIlIl» Dimensions
1114 A1l Fig.1 Al type 1112 A211li Fig.2 A2type

43

mfflé»Specifications Ofil:/UNIT:mm
il $111 J:Ii:-élj,go-% Max.Gr%pllF]glg”Diameter @

MODEL A B C D E F G H [ J KL p M N Reference MaxSpeed 94 f9!'| W. Weight
/SPEC. Drawing  r.p.m.(min- Clamp|ng Clamping {9
A5-08" 200 83 335 619 40 01048 3M1Od 5P 8 82563 28 43 11 14.29 016.3 6.8 lil-1 fig.1 2000 08-0180 062-0170 174
A6-08" 200 83 335 826 5 01334 3-M12x1.75P 82 106.375 28 43 11 15.88 019.3 6.8 lil-1 fig.1 2000 08-0180 062-0170 18

A16-10" 255 915 365 826 56 01334 3-M12x1.75P 93 106.375 32 50 12 15.88 019.3 6.8 lil-1 fig.1 1800  011-0240 070-0230 30.6
A211-20" 500 135 40 235 1905 0235 6-M20x2.5P 140 196.869 55 84 19 — 029.4 10.7 lil-2 fig.2 1000 025-0480 0125-0460 161.5

fili:nJ1 l!lef tEWiB@ Max_ Gripping Diameter
MODEL A B C D E F G H J K L Max.Speed 9i-loteJW ofé:teltlli! Weight
ISPEC. r.p.m.(min-3  O.D.Clamping LO.Clamping (kg)
PSK-07 193 76 155 172 58 5 3-M10x1 .5P 82 28 43 1 2000 08-0180 062-0170 12.7
PSK-09 233 84 190 210 70 55 3-Mi12x1.75P 93 32 50 12 2000 011-0220 070-0210 20.8
PSK-12 310 96 260 285 105 7  3M12x1.75P 118 40 56 14 1800 015-0300 090-0290 43
PSK-16 405 122 345 375 160 8 6-M14x2P 150 50 75 15 1500 030-0400 0110-0380 86.7
PSK-20 500 140 420 458 205 55 6-M16x2P 140 55 84 19 1000 025-0480 0125-0460 149
—
EEERY = T\Z&0H
R -N 1» Dimensions
o
J/"'_-E__'“‘H}"
- kbl oy Pl
fuih [ EorT A
[ s@a 3 1
|I _.-_(' 2 L1 = "1'\-..\_\'
. .,
- o, =
"-\._\_\.-\_- -_F_.__.-"'
Miflé»Specifications &fil:/UNIT:mm
ﬁlh\ﬂ]l milmfilf  teswifie Max. Gripping Diameter
MODEL A B C D E F G H J K L Max.Speed Oi-id:teJW ofoteJW  Weight
/SPEC. rp.m.(min-}  O.D.Clamping LO.Clamping (kg)
D,5-08" 200 83 82563 15 46 19 1048 8 28 43 1l 2000 08-0180 062-0170 17.8
D,6-08" 200 83 106.375 16 58 222 1334 8 28 43 T 2000 08-0180 062-0170 17.3
D,6-10" 255 94 106.375 16 76 22,2 1334 93 32 50 12 1800 011-0240 070-0230 31.3
D,8-10" 255 94 139.719 18 76 254 1714 93 32 50 12 1800 011-0240 070-0230 30.9
D,8-12" 310 105 139.719 18 103 254 1714 118 40 56 14 1800 015-0300 090-0290 51.1
D,11-20" 500 135 196.869 — 1905 302 235 140 55 84 19 1000 025-0480 0125-0460 165.5




N powerrut Tvpe super THIN cHUCK L@ superTHIn SQUARE CHUCKS
5 ) RETE BY IR 8 IS BN ETE IR AR

1.MC IR EIHETST  (EIEERIR 2 TTEYIREE W, X,Y,Z Z 2
2 EERZEL0.05mmEAA °

2 MCRASIIERIRE T ERRBEIFZARZ DI L » IRV E
BR o B~ T3fE -

1 IESFIEREAN30° M » HEds R FEEEER -
2 SEHEIERET - OB T2 BFFRE °

3 NEROEERET - KENTS - S EMEBERIFZEEALZEZS0.02mm LA -

4 3BDBVEG ST LM - 4 AEFATIRIER - 8T FITRZEZS0.05mmEAA -

R <F B > Dimensions 1.The har.1dle with an ahgle of 30 degrees is much R < B > Dimensions 1.MC chucks are precisely ground_, the tolerances
convenient for operations. of W,X,Y,Z among chucks are within 0.05mm.

2.The "super thin thickness" design of chucks 2.Soft jaws can be used alternatively for machining

/5 increase the "allowable distance" of machining special shaped work pieces, to substitute for
AE operations. designing and making a lot of jigs for this
= Eﬁ/ 3.Chuck flange makes loading and unloading = purpose.
— HE operations simpler and more convenient. T HE 3.The repetitive gripping accuracy with the hard
Q - w ol al T 4.Hard jaws and Soft jaws can be used [T jaws are within 0.02mm.
— 1T &
9 o8 alternatively. z Rl 9 < 4.Parallel gripping accuracy with hard jaws can be
= g controlled within 0.05mm after aligning sides of
chucks.
, —'E C
¢ e/ =—
B2 C
B1 8

#7 1% = > Specifications EE{I/UNIT:mm {85 FA &E 51l > Operation Example
BT /1R

MODEL A1 A2 B1 B2 c D

/ SPEC.

TIRURRBEIL W, X, Y, Z SEER
v
NBK-06 220 170 58 18 130 147 = —
: — =
NBK-08 270 210 65 20 155 172 p\ ] > <
N 1 1
NBK-10 315 255 73 20 190 210 P P PO Lﬂ?
NBK-12 370 305 80 22 250 285 | LIEE |
R #% 38 > Specifications EBEi/UNIT:mm

B RS B RS

MODEL E F G H J K MODEL A B C D E F G H J K L M

/ SPEC. / SPEC.

NBK-06 45 6 3-M10x1.5P 68 26 40 MC-06 215 57 18 130 40 55 4-M10x1.5P 68 26 39 14 144
NBK-08 60 6 3-M10x1.5P 82 28 43 MC-08 250 65 20 160 55 6 4-M12x1.75P 82 28 43 17 174
NBK-10 80 6 3-M12x1.75P 93 32 52 MC-10 310 72 22 200 70 6 4-M14x2P 93 32 50 21 218
NBK-12 105 5 3-M12x1.75P 118 40 59 MC-12 380 85 25 260 100 7 4-M16x2P 118 40 56 23 274

EEE EEE
B AR Max.Gripping Diameter ;@E R /4548 Max.Gripping Diameter smE
VSPeC - M OHEILE PEICE Weight MODEL N P Q R S SRR PIEE Weight
: 0.D.Clamping 1.D.Clamping (kg) : 0.D.Clamping I.D.Clamping (ka)
(mm) (mm) (mm) (mm)

NBK-06 10 13 08~0160 048~0150 10.6 MC-06 165 144 165 66 18 04-0128 055-0128 1.4

NBK-08 11 13 211~0200 062~0190 18.1 MC-08 200 174 200 83 18 05-0162 062-0162 18.6

NBK-10 12 16 212~0250 072~0240 27.9 MC-10 250 218 250 104 18 06-0200 072-9200 31.6

NBK-12 14 18 215~2300 286~0290 42.9 MC-12 310 274 310 135 22 210-0265 290-0265 56.6



SR I AR

[
S S5UPER JHIfS CI:IUCKS

L1l '51' 'mJ1ffj@@t ' RM@IN:I=mIUY-] -
2.18[mffli.Jfilelffi , @@ AEME@ET-=rw > —

3-©©ofll ' jliifit:@f¢ -

4. QfIERQY-Iif, QPO , BL="H -

5.2"ti1]1If1:j: €¥-J0.8mm -

Ru 1itth Dimensions

1.By the compactness comes from " Light, Thin,
Short, Small " designing concept; the chucks
are most fitting to hold work pieces for

___I_ = = LAl
= i!_ .-:"".. — measuring.
,--"'a — -\-I{::""x : Jui 2.Just rotate the chuck knob directly for gripping
_,’f e": - .."M;:;}-a- y | E | and loosening, A handle is not necessary to be
;M b N Y e used.
| .0 ‘ﬁi ol | I - —q 3.Chuck body is made of very durable steel.
1 i P ik ..-.-3,_
| #1 | ;g,gj;'g{ I e | & 1 f— E ok 4.Jaws can be reversibly used; gripping of
I"., '1"' .-= .-'I i '*[ various sizes becomes much convenient.
' L \:“n._ : ‘|= ____,'a_," r i = _Llu 5.2" chucks can even grip up to the smallest size
"\-% - __:-E-:_, o = r%" of 0.8mm.
e B 4 |- e
o [P -
<t
=l B ]
mfflé » Specifications &fil:/UNIT:mm
Ltm.m
MODEL A B c D E F
/SPEC.
SE-02 63 28 118 100 16 4
SE-03 85 37 143 116 20 4
SE-04 110 39 168 140 26 5
SE-05 130 45 202 168 32 6
SE-06 160 52 248 208 50 8
Ltm.m
MODEL G H ) K L
/SPEC.
SE-02 4-M5x0.8P 27 8 13 8
SE-03 4-M6x1P 35 il 15 10.5
SE-04 4-M6x1P 42 14 19 10
SE-05 4-M8x1.25P 50 16 21 115
SE-06 4-M10x1.5P 65 19 26 15
lt'*J' n JALfRI
S Al Max.Gripping Diameter o JITX
MODEL M SHINALE! pping [t Weight
/SPEC. 0O.D.Clamping |.D.Clamping (kg)
(mm) (mm)
SE-02 26 00.87063 0237058 12
SE-03 32 017081 0317070 29
SE-04 40 0170100 0367090 4.3
SE-05 49 01.570116 04370106 6.2
SE-06 70 01.570160 05270148 111




